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1. (a) -1,4 @ 3,2
(by 5 2 (@ 3.3
(© 3,5 () 1,5
(d) 1,4 @ -2,1%
(e) -1,8

2. (a) 1082,018 (d) 0.70, 430 (g) 865035
(b) 419, 1.19 (e) 280, 455 (h) 269,019
(c) 670,030 () 059, 084 () 177,023

3. 5cm 9. 450¢g

4. 5cm and §cm 10. —90. '34 (.70, 430, 5.54
5. 846cm 11. 42

6. 13.8cm 12. 60km/h

7. 6 years 13. 2cm or 3tem

8. 889 or 0.113 '
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1. (a)x=1, y=2x=2y=1
(b)AZS,_\=1;x=1,}'=5
(c)x:f},y:#l;x:—l,y-——?}

2. (a) y (b) x

3 (a)x=-Ly= 1Zx=6y=2
(h)x:lZ,y-ffl;x*—lZ,y"'
@x=0y=06y=4% y=4

4. (a) x =241, y = 039 x = —541, vy = 841
(b) x = 089, y = 211; x = 1011, y = —711

B (x=1y=-r¥="gy= ~%
mx=Ly=%x=3 y=2
() x = 1,9 e= 20 =8, Y =2

6. 13

7. 12m,9m
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1. (a) 1,4 (by 5, =2 (c) -1, -2

2. (a) 1.08, —558 {b) 612 —2.12

3.9 (b) % (e % (@

4. a =4, bfﬁ 6.45, 1.55

5. x=%y= oux= =1 = =0

6. 3766 7. 5¢m, 12cm, 13em

8. 0.70,0.18 9. 218cm, 188cm, 288cm

10. (a) 157,- 957 (bya—4.b= 31
(©




